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The old, old.rope was tied,
Tied hanging from a ring.
What did its old knot say
When a hrppo asked to swmg"
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TO ANSWER THE RIDDLE ABOVE
For each exercise, write an equatlon expressmg dlrect or
inverse variation as a square. Use k as the constant of -
variation. Then solve the two problems under the e
exercise. Find each answér at the bottom of the page
and write the problem letter above it. .
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. The brightness of lllummatlon 1, of an oblecl varies
‘inversely as‘the square of its-distance, d, from the I A
source of |Ilummanon lf /=18 luxes when d = 32
@ Flnd the value of k i - E 2_’
() Find L when d=3-m» k=1t —L '“xes
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1. The distance, d, that &’ free- fallmg body falls varies
directly as the square of the time, :t, lhat it falls. If

d =36 mwhen t=3 sec, d K‘f
@ Find the value of k. 3(p= }<<2> —L‘_ o
@ Find d when't = 5 sec: d= L{-(s> 100 m

: 5. The tlme y < neecled to fill the gas’ tank of a car varies -‘

inversely as the square: of the didmeter, d, of the

" hose. lft=5 min when d = Scm
K 45
@ Find the value of K.
® Fmdtwhend 20m 5, é .25 min
s 31—-

‘C7>® Find the value of k. /OO }L(Z.) _l_ ;
@ Find Mwhenr=7cm. K =|S [23S cm?

2. The amount of material, M, needed to.caver a;ball.is
directly propomonal to the square of lhe radlus r.lf

M =60 cm? whenr—ZCmN\ K

6. The electrlcal resustance R, of a wire of a certain -l—;.. _E

. length is |nversely proportlonal to the square of its ~
. diameter, :d. If R= 10 ohm& when d 0.6 mm,

@ Find the value of k R" 2 % R=
_ ' Find R when d =3 mm. |0 _A_L.l’_ ohims

3. The price, p, of a pizza varies directly as the square
of its radius, r. If p = $6.00 when r = 10 cm,

suonedlang saneain 6ge| o
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7. The price, p, of a diamond is dlrectly proportional to the
square of its weight, w. If p = $2000 when w =1 carat,

QOO0

@ Find the value of k. P Kr 2 .0 ® Find the value of k. [= K™ L2
@ Find p when r—150 (‘ ) $_@C ® Fmdpwhenw 07cacr2l0k_hgo)oo $ 980
D=.00 ( CS\ \
o JA Ml Al IEIRIAIYTEID] TINTol+
288 [12.75| 0.4 | 45 [0.12] 100|920 |11.25 980 [0.06 |2000(735| 4. | 25 |'32 | 3.6 13.50| .15
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% Translate eaoh statement mto a formula Use k as the constant of variation. - i o

. Vvanes Jomtly aSzi ar

g,

@ tvanee dlrectty as W and mversely as n. ‘ ,;' i_“:—m :

@ P vanes dtrectly as the square of vV and mversely asA. - R P-' K N

: . h variee dire_,ct[y as W and i_'_r'_we'rsely as the st‘qu‘_'are of r..

@ E.varies jointly as m andithe square of v...

o @ l.‘ vanes j:ein-tly as A-and: f-fg--and"-inverse"ty"as T.

The mass m ot a cement block vanes jomtfy as the Iength €,

The grawtatlonal force, g; between two objects varles jomtly as . ‘ le
the mass of the first, m;, and’ the mass. of the second m,, and
mversej)’/ as the. square of the distance, d between them.

OBJECTIVE 1-m: To w'rite' a formula expressing
joint and/or combined variation. -
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